CIELABNG triangle lightness t*
Yw

o Inc= nc=100,

 CiELABNG =116 (V/Yp) Y3016 (V;=100,Y,o/1002Y<=Y, o)
t*(3.6)=231* ,(18)=50,*,,(90)=96

t*90=96,01,y=3,0, 1§=1/3,0=0,37
t*15=49,71 §=115,49 D,/-~15 9
13 6=22,55,t,=49,71 Y.-18

t*,=49,71 m,=50,02

application
range

Ya=3.6  Yu=90
CIELABN6

tristimulus value difference

Yac=Yw - nc=100,

¥ CiELABNG =116 (/Y Y3016 (Y;=100,Y,o/1002Y<=Y, o)
log(dY) = (1/3,0) log[3,0¢,/115)] + [1-(1/3,0)] logy)

dYeq=13,45,y=3.0.7"
dY,6=4,6Q $=1)%,
dY 1,56 Y. -

1v,=18
1 Yw=90

log (AY/Y) CIELABN6
_ tristimulus value sensitivity
SOV Yoc=Yw - nc=100,
t* CiELABnG =116 (YY) Y316  (¥,=100, Y,/100<Y<=Y,)
log(@Y/Y) = log[3,0(,/115)] - (1/3,0) log{/Y,)
= (1/3,0) log[3,0¢,/115)] - (1/3,0) log{)

application
~.sange

=50, dY,=4,60 dY,/Y,=0,2555 1
1

(dY/Yy5=0,1494=3,0, 14=1/3,0=0,33
(dY/Y)§=0,2555 S=115,49 D,=+15,49
(dY/Y},=0,4361 Y,=100 dY=4,60
1y,=18
1 Yy=90

Yn=3.6

log (Y/AY)
C,=(Y/AY)

CIELABN6

tristimulus value contrast
Yac=Yw - nc=100,

¥ CIELABNG =116 (V/Yp) Y3016 (Y7100, Y,o/100Y<=Y, o)

log(Y/dY)= - log[3,0,/115)] + (1/3,0) log{/Y,,)

- (1/3,0) log[3,0¢,/115)] + (1/3,0) log{)

1
(Y/dY}y5=6,69,y=3,0, 14=1/3,0=9,33
(Y/dY)g=3,91, §=115,49 D,=-15,49 application
(Y/dY} 2,29 Y,=100, dY=4,60 range
17,=18
Yw=90

Yn=3.6

e,
(S

CIELABNG relative triangle lightness t*/t*,
Yoc=Yw

nc=100,

t* CiELABNG =116 (/Y Y3 %16 (Y,=100,¥,d/100Y<=Y,0)
t(3,6)=23,t* ,(18)=50,* ,,(90)=96

t*gg/t*,=1,93,y=3,0, 1§=1/7,0=
t*1g/t* 71,00 §=115,49 Ny,
t*3 ¢t*=0,45,15,=49,71 ¥=1%,

application
range

Y,=18
Yy=90

/=1, m=-0,35 *
L*,,=49, t*,=50

Yn=3.6

CIELABNG relative
tristimulus value difference
Yoc=Yw =

log(AY/AY,)

AYIAY, 00,
t* CieLABne =116 (/Y Y3016 (7;=100,Y,/1002Y<=Y,0)
log(dY/dY,) = [1-(1/3,0)] log¥{/Y,,)

dYog/dY,=2, 92 =30, 11/—1/3 0=0,33
dY;gdY,= 49 Dy=-15.49
dY3 Y, =0 34 e lOQ dyz=4

*

=50, dY,=4,60 dY,/Y,=0,2555

application
range

Y,=18
Y=90

Y38
log [(AY/Y) I (AYIY)] CIELABNG relative
tistimulus value sensitivit;
SIS =@YMIAYNY), D S P oY
t* CiELABNG =116 (YY) Y3 016 (Y,=100,¥,d/100Y<=Y,o)
log[(dY/YV)/(dY/Y),] =~ (1/3,0) log¥/Y,,)

(dY/Y)o/(dY/Y)=0,58,y=
(dY/Y)g/(dY/Y,
(dY/IYy J(dYIY)=

=3,0, 14=1/3,0=0,33
=1,00 3,:115,49 D,=-15,49
o ‘l n=100 d¥=4,630 Tication
log[(dY/YY(dY/Y),]=0, m/=-2 3o
*,=50, dY,=4,60 dY,/Y,=0,2555 }
1y =18
=Clp log

YN=3.6

log [(Y/AY) I (YIAY),] CIELABNG relative
tistimulus value contrast

ColCu=(YIB)/(YIAY), v 2y,

=100,

t* CiELABNG =116 (YY) Y3 %16 (Y4=100,¥,d/100Y<=Y,o)
logI(Y/dY)/(Y/dY),] = (1/3,0) loglY/Y,)

(Y/dY}/(Y/dY)=1,70,y=3,0, 1§=1/3,0=0,33
(Y/dY)g/(Y/dY)=1,0Q S=115,49 D,=—15,49
(Y/dY} g(Y/dY)=0,58 Y,=100 d¥=4,60

Iog[(Y/de(YldYL] =0, m.=C,57

application
range

Y,=18
Yw=90




